1: 16 stm i MR, start med 3 Im, slut med 1 km i 3. Im.

2: 3 1m, 1 stm i samme m som Im,(2 Im, spr 1 m over, 3 stm i naste m), slut med 2 Im, spr1 m
over, 1 stm i samme m som Im, 1 km i 3. Im = 8 huller

3:31Im, 1 stm, ( 3 stm om Im, 3 stm i stm), slut med 3 stm om Im, 1 stm, 1 kmi 3. Im

4:2km, 1 fminastem, (3Im, spr1mover, 1fm, 15 Im, spr 3 stm over, 1 fm i naste stm), slut
med 3 Im, spr 1 m over, 1 fm, 15 Im, spr 3 m over, 1 km i fm = 8 huller

5: Kmtil 2. Im af de 3. 1 fm om samme Im, 9 stm - 2 Im - 9 stm om 15-Im, ( 1 fm om 3-Im, 9 stm —
2 Im =9 stm om 15-Im), slut med 1 km i fm.

6: km til 2-Im, 3 Im, 1 fm i samme Im, 20 Im, ( 1 fm om 2-Im, 3 Im, 1 fm om 2-Im, 20 Im), slut med
1kmil. Im.

7:1km, 1 fmom 3-Im, (12 stm — 2 Im — 12 stm om 20-Im, 1 fm om 3-Im), slut med 12 stm — 2 Im
—12 stm om 20-Im, 1 km i fm.

8: km til 2-Im, 1 Im, (1 fm om 2-Im, 20 Im), slut med 1 km i fm.

9: 3Im, 1 stm i fm, 25 stm om Im, (1 fm i fm, 25 stm om 20-Im), slut med 1 km i 3. Im.

10: 1 km, 3 Im, 2 stm i samme m som 3 Im, (spr 2 stm over, 3 stm i naeste m), slut med 1 kmi 3. Im.
11: 31Im, (1 stmistm), slut med 1 kmi 3. Im.

12: 1 Im, (1 fm i naeste m, 25 Im, spr 10 stm over, 1 fm, 3 Im, spr 1 stm over), slut med 1 km i fm.
13: 1 km, 3 1Im, 12 stm-2 Im-13 stm om Im, 1 fm om 3-Im, ( 13 stm-2 Im-13 stm om Im, 1 fm om
3-Im), slut med 1 kmi 3. Im.
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Blue star

Ch 6, join with sl st to form a ring

1: 15 dc in magic ring, start with ch 3, join with sl st in 3 ch.

2:ch 3, 1dcin same st as ch,( ch 2, skip 1 st, 3 dc in next st), end with ch 2, skip 1 st, 1 dc in same
stas ch, 1 sl stin 3. ch.

3:ch3,1dc, (3dcinch2,dcinnext3dc), endwith3dcinch?2,1dcindc, 1slstin3.ch

4: 2 sl st, 1scinnextst, (ch 3, skip 1st, 1sc, ch 15, skip 3 dc, 1 sc in next dc), end with ch 3, skip
1 st, 1 sc, ch 15, skip 3 st, 1 sl stin sc.

5: Slstto 2. ch og 3. 1 sc around same ch, 9 dc - ch 2 -9 dc around ch 15, (1 sc around ch 3,9 dc
—ch 2 -9 dc around ch 15), end with 1 sl st in sc.

6: Sl sttoch 2, ch 3, 1scinsame ch, ch 20, (1 sc around ch 2, ch 3, 1 sc around ch 2, ch 20), end
with 1 sl stin 1. ch.

7:1slst, 1scaroundch 3, (12 dc—ch 2 - 12 dc around ch 20, 1 sc around ch 3), end with 12 dc —
ch 2 —12 dc around ch 20, 1 sl st in sc.

8: Slsttoch 2, chl, (1 scaround ch 2, ch 20), end with 1 sl st in sc.

9:ch 3, 1dcinsc, 25 dc around ch, (1 scinsc, 2, 25 dc around ch 20), end with 1 sl st in ch 3.

10: 2 sl st, ch 3, 2 dc in same st as ch 3, (skip 2 dc, 3 dc in next st), end with 1 sl stin ch 3.

11:ch 3, (1 dcindc), end with 1 sl stin ch 3.

12: Ch 1, (1 scin next st, ch 25, skip 10 dc, 1 sc, ch 3, skip 1 dc), end with 1 sl st in sc.

13: 1 sl st, ch 3, 12 dc—ch 2-13 dc around ch, 1 sc around ch 3, ( 13 dc-ch 2-13 dc around ch, 1 sc
around ch 3), end with 1 sl stin ch 3.



